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1. What is the primary aim of geriatric physical therapy?

a) Cure of chronic conditions

b) Palliation of symptoms

c) Restoration of function and mobility
d) Emotional support

Answer: c) Restoration of function and mobility
2. Which sensory impairment is most commonly associated with falls in the elderly?

a) Hearing loss

b) Vision impairment

c) Taste dysfunction

d) Proprioceptive deficit

Answer: b) Vision impairment
3. Which medication class is often associated with an increased risk of falls in the elderly?

a) Antihypertensives
b) Antibiotics

c) Analgesics

d) Anticoagulants

Answer: a) Antihypertensives
4. What is the leading cause of cognitive impairment in older adults?

a) Depression
b) Dementia
¢) Delirium
d) Anxiety

Answer: b) Dementia
5. What is the primary reason for the increased susceptibility of older adults to dehydration?

a) Increased fluid intake
b) Decreased kidney function



¢) Enhanced thirst sensation

d) Improved fluid retention
Answer: b) Decreased kidney function

6. Which mental health condition is common among older adults and often goes

undiagnosed?

a) Bipolar disorder

b) Schizophrenia

c) Depression

d) Obsessive-compulsive disorder

Answer: c) Depression
7. In the context of geriatric care, what does the term "polypharmacy" refer to?

a) Treatment with multiple medications
b) A specific drug class

¢) Medication intolerance

d) Prescription of over-the-counter drugs

Answer: a) Treatment with multiple medications
8. Which vitamin deficiency is associated with an increased risk of falls in older adults?

a) Vitamin A
b) Vitamin C
¢) Vitamin D
d) Vitamin K

Answer: ¢) Vitamin D
9. What is the primary objective of a home safety assessment in geriatric rehabilitation?

a) Enhancing home aesthetics
b) Identifying potential hazards and minimizing fall risks
c) Promoting social interactions

d) Recommending home renovations
Answer: b) Identifying potential hazards and minimizing fall risks

10. What is the primary risk factor for the development of pressure ulcers in the elderly?

a) Obesity



b) Age-related skin thinning
¢) Poor nutrition
d) Chronic respiratory conditions

Answer: c) Poor nutrition
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